Cumulative Test Worksheet — Ch 7 Radicals

Name /< = >/ Period

Given y=%\/x—4—2, ‘

JE."--'1/1: E]}DO>

a. whatis the domain?

b. what is the range? 1b. F_ = 5 ) >

| —
c. describe the horizontal shift. 1c. H Ori ZO0h+a | SL\ 3 f-l- E\jk + L{
d. describe the vertical shift. 1d. \/er'L\'Cm( SL\ ) -F—l— D owWwn c;\)

Given y =3%x+1-3,

a. what is the domain? 2a. (" o, <) >
b. what is the range? 2b. (“ oQ C’O)
c. describe the horizontal shift. 2C. H OriZoh+a | SL\ 3 7C-I~ le )F+ /
d. describe the vertical shift. 2d. \/e rh(a( SL\ ) -F—F D OoWn 3
Graph the function y = 3/x -1-1and state Domain: (" 09 ) <) >
the domain and range of the function.
Range: (" e, &O)
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For problems 4 — 7, solve the equation. Check for extraneous solutions.
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7. g(x+3)3’4 =81 7. X= £9

L Cheele:
((x+3)?7> .:(;17.33 3(7y+ 3) =&l
x+3 = <"J’§—I ! (1) e
X3 = ()" 2(27) = ¥
XA2 = = #1 s v

For problems 8 — 11, simplify each radical expression. Assume all variables are positive. Do not use
decimals.
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